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5 X 4 B | Timh o DR jmxa;é R 4 TiRALDKE [ FE jw)xajé R 4 B | LmhooE jw)xajé K 4 HiEhooks | & jmjt?gé
(m) (m) (kN/ ) EEBf(m) (m) (kN/ ) (m) (m) (kN/ i) (m) (m) (kN/ )
7 100kN/m%EBZ5 | 1.00| 000 ~ 273 14303 |3mEBZS -~ - - -] 100kN/ %825 | 1.00 | 11.32 ~ 2392 14303 |3m%EiBz% -~ -
s 1.00 | 273 ~ 1051 100.00 | =St | 0.00 ~ 1051 2.97 15.00 st 1.00 | 6.00 ~ 1132 100.00 | =hst | 6.00 ~ 2392| 2.97 15.00
2 100kN/m%E#BZ5 | 1.00| 000 ~ 256 14015 |3mEBZD -~ - - -] 100kN/ %825 | 1.00 | 10.74 ~ 2459 140.15 |3m%E#BZ% -~
s 1.00 | 266 ~ 1034 100.00 | =nst | 000 ~ 1034 259 13.09 st 1.00 | 6.00 ~ 10.74 100.00 | =nLSt | 6.00 ~ 2459 2.69 13.09
3 100kN/mM%E#BZ5 | 1.00 | 000 ~ 264 141.48 |3m%E#BZ D -~ - - -] 100kN/ %8825 | 1.00 | 1062 ~ 2410 14148 |3m%E#BZ% -~
s 1.00 | 264 ~ 1042 100.00 | =nhst | 000 ~ 1042| 263 13.29 st 1.00 | 6.00 ~ 1062 100.00 | =hst | 6.00 ~ 2410 2.63 13.29
4 100kN/mM#E#BZ5 | 1.00 | 000 ~ 260 140.88 |3m%Ei#BZ 5 -~ - - -] 100kN/mZ#8z% | 1.00 | 1085 ~ 2640| 140.88 |3mZ#Bz5 -~
s 1.00 | 260 ~ 1039 100.00 | =nhst | 0oo ~ 1039 2.89 14.60 st 1.00 | 6.00 ~ 1085 100.00 | =nst | 6.00 ~ 2640| 2.89 14.60
5 100kN/m%EBZ5 | 1.00| 000 ~ 285 14517 |3mEEZD -~ - - -] 100kN/ %825 | 1.00 | 10566 ~ 2570 14517 |3m%E#BZ% -~
s 1.00 | 285 ~ 1064 100.00 | #nst | 0.00 ~ 1064 3.00 16.16 st 1.00 | 6.00 ~ 1056 100.00 | =hst | 6.00 ~ 2570 3.00 15.16
P 100kN/mM##BZ5 | 1.00 | 000 ~ 250 139.26 |3m%E#BZ 5 -~ - - -] 100kN/ %8825 | 1.00 | 1095 ~ 21.40| 139.26 |3m%EiBz% -~
s 1.00 | 260 ~ 1029 100.00 | #nlst | 0.00 ~ 1029 2.90 14.64 st 1.00 | 6.00 ~ 1095 100.00 | =hst | 6.00 ~ 2140| 2.90 14.64
- 100kN/mM#E#BZ5 | 1.00 | 000 ~ 250 139.25 |3m%Ei#BZ 5 -~ - - -] 100kN/ %825 | 1.00 | 1095 ~ 21.40| 139.25 |3m%EiBZ% -~
s 1.00 | 2560 ~ 1029 100.00 | #=nlhst | 0.00 ~ 1029 1.90 9.58 st 1.00 | 6.00 ~ 1095 100.00 | =hst | 6.00 ~ 2140 1.90 9.568
P 100kN/mM%E#BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEBZD -~
zhst - -~ - -| Fhust -~ - - - Fhst - -~ - -l En s -~
9 100kN/mM%#BZ % - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEBZD -~
zhst - -~ - -| Fhust -~ - - - Fhst - -~ - -l En s -~
10 100kN/mM%#BZ 5 - -~ - -|3mEBZD -~ - - -] 100kN/m#%#8% % - -~ - -|3mEBZD -~
zhst - -~ - -| Fhust -~ - - - Fhst - -~ - -l En s -~
11 100kN/m%E#BZ5| 1.00 000 ~ 072 110.78 |3mE#EZ5 -~ - - -] 100kN/ %8825 | 1.00 | 1083 ~ 1290 110.78 |3m%Ei#Bz% -~
s 1.00 072 ~ 851 100.00 | =nhst | 0.00 ~ 861 2.31 11.69 st 1.00 | 6.00 ~ 1083 100.00 | =hst | 6.00 ~ 1290 2.51 11.69
12 100kN/mM%E#BZ5 | 1.00 | 000 ~ 184 12824 |3m%E#BZ5 -~ - - -] 100kN/ %825 | 1.00 | 1246 ~ 2856 | 12824 |3m%EiBz% -~
s 1.00 | 1.84 ~ 962 100.00 | =St | 000 ~ 9.62| 2.71 13.68 st 1.00 | 6.00 ~ 1246 100.00 | =hst | 6.00 ~ 2856 2.71 13.68
13 100kN/m%E#8z5 | 1.00 | 000 ~ 1.87| 12883 |3mEiBz% -~ - - -] 100kN/mZ#8z5 | 1.00 | 11.69 ~ 23.29| 12883 |3mZ#Bz5 -~
s 1.00 | 1.87 ~ 966 100.00 | =4t | 0oo ~ 966 | 2.46 1242 st 1.00 | 6.00 ~ 1169 100.00 | =nLst | 6.00 ~ 2329| 2.46 1242
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhest ~ st ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhLst ~ ZFhst ~ FhLst ~ st ~
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